S Chabe
HI: CHAD AIQI(UEIB BT/ UBE)
s At 2| (CHl: X 21)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
CHANDH 912,868 629,298 283,570
CHAMDY AL (LEIBZ /UL ) 726,575 456,950 269,625
CHAMDY 242 222,975 164,950 58,025
A2 13,100 8,100 5,000
201 L2 A 8,100 8,100 0
02 2229H| 8,100 8,100 0
Odue)| 2 &H| |XIE4H|
200,000 +8CH 1,600
OAe KX/ 1,500,0002 % 14! 1,500
OXtet KAl 5,000
—HE 52 (54416476) 2,000,000+ 1CH 2,000
—ABE21(96%5817) 2,000,0002*1CH 2,000
—gtEE 2SI S|
1,000,000 1CH 1,000
401 NI 22 5,000 0 5,000
01 Al&H] 5,000 5,000
OHAM U &= ®F 5,000,0002 % 14! 5,000
EREEEE 10,224 2,360 7.864
101 Q124H] 5,888 0 5,888
M IIIR22ISES 5,888 0 5,888
OdtAH S 212 76,960 R %12 *70 5,388
OstHYe 22X 4HEE2
500, 00024 14! 500
206 XHEH] 3,2% 1,320 1,976
01 X2l 3,29% 1,320 1,976
Ogtzae| ®Ye 1Y
6,0002%x35+10%*43] 720
OMEZ 218 I 7
5,000 10&12& 600
OstHgS SR 1,976
—Flge 1,92024%300L 576
—EHAHA| 3,500 & *400L 1,400
307 2I2+0|& 1,040 1,040 0
01 22 R2H| 1,040 1,040
OdZol F5| 15,000 *3%* 122 540
OSHAIZ A Eelldl 500,000 %132 500
Hots QRI2L 49,344 43,200 6,144
201 L2 S 49,344 43,200 6,144
02 2329H| 49,344 43,200 6,144
OLets MlIe= 6,000 x514=x122 37,008
O=Z0ots ==t 60,0002 *514=*40/100 12,336
S 20CTVS X242 2,240 1,840 400
201 L2 HH 2,240 1,840 400




A

CEALDH
CHAMH
HE: LD AR (UBID T/ UBIT)
CAFDY
— e

ool oy (Crol: M)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
02 2329 2,240 1,840 400
OLHEECCTVAIIRS
5,00024 28 A* 122 1,680
OBHHE0CTV S84
50,0002 *2874 A*40/ 100 560
IEZAS ALY 37,625 5,405 32,220
101 o12A| 22,320 2,199 20,121
M4 IR2ENEES 22,320 2,199 20,121
OZ2H 2 He ZHD| oeg
76,9609+ 10H*52+33 11,544
OIEIIsAI(RY, A2 =Y
76,9602x3H*102L*23] 4,618
OSMHAX| DADAHK HERY S 0129
76,9605 x 10 3,848
O AleX| 22l 2 HMEEe o8
76,96021%1Hx202 1,540
OSHZ NS ¥ #2iX| sAFY| o1
76,9602 %1% 10 770
201 LB 429 429 0
02 2229 429 429 0
OB5sFA 2249
33,0002 %1374 A #13] 429
206 M=l 5,876 2,777 3,099
01 MH2HI 5,876 2,777 3,099
O3 22 2 429 22| IR
2,000,000 %14l 2,000
Oou=J| =lgx 7Y 1,92024%300 £ 576
Ou=J1 & +¢ 6,000 +50H 300
OSHMH X FH DADACH] =& ZH S 2
3,000,000 % 14! 3,000
401 AlZHIZ 20| 9,000 0 9,000
01 Al&HI 9,000 0 9,000
OShAlH ECHEZZ2 XA ZDt AT 2 A
9,000,000 % 14! 9,000
CHADE =DITIXIME 29 5,400 5,387 13
201 LEr2 A 5,400 5,387 13
01 AlR2r2lH] 1,800 1,800 0
OFLIRXIME A2E2 ¢
150,000 %122 1,800
02 2229 3,600 3,587 13
O™MRS, +52=2 S
150,000+ 12 1,800
OAE & ALY RX22
1,800,000 % 14! 1,800
ENAIPIEEE 105,042 98,658 6,384
204 ER4AH| 2,400 2,400 0




2A:

X XH -
(=

SR Sdd acl (Etel: F2)
SN - FH - SRA(SH) - MDA - BYS ofl by ] Hm=2
03 SEHREHI 2,400 2.400 0
OMFegs?d 100, 0002 *2 2+ 122 2,400
301 YerEE= 102,642 9,258 6,384
07 E& - 0|& - BIREEEAZ 97,170 91,470 5,700
O0|&==E 88,920
—J|Eag 300,00024+ 192 * 122 68,400
—d0i= 300, 00024192 *200% 11,400
—3|o&A Aot
20,0002 * 192 %25+ 122 9,120
@LE[PSEN=: 50,0002 %51 2,550
00l E& S4IH| X
25,0002 * 1924122 5,700
11 SAIAHIXIRZ 5,472 4,788 684
Oelgsior €0 S 3|o&AR SAl
8,0002*57 122 5,472
AHD ZOIHEHOAIY 503,600 292,000 211,600
AAD Z0IHEOAY 503,600 292,000 211,600
201 AI2HI L2 0HY] 503,600 292,000 211,600
01 Al&H] 500,000 290,000 210,000
OARRD F0IHIANY 500,000
—=212| ti22 AXI2A
100, 0002 *260m 26,000
—EQ22| 52 TRTA
150, 0002*175m 26,250
— A2 52 TERTAL
150, 0002*175m 26,250
—AHE2R| HiE2 AXIZAL
100, 0002 *260m 26,000
—32312] Hi2 AXIZA
100, 0002 *260m 26,000
— 2702 Hi2 AXIZA
100, 0002 *260m 26,000
—332| 52 TETA
150,0002*175m 26,250
—EAHE| B2 TETAl
150, 0002 *175m 26,250
—SARE| B2 XA
100, 0002 *260m 26,000
—HARE| B2 IETAl
150, 0002 *180m 27,000
—SH212| H2 AXIZA
100, 0002 *260m 26,000
—CHE02| AFHEHIZAF
300, 0002 %90 ' 27,000
—CHm32| AFHEHIZAL
300,000 %90 27,000




A CHAR
NI CHAD ALY (LEIB TN/ UBIEN)
BHelr A2 FREAANY (Crel: &)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
—=2012l a2 EXI3A
100, 0002 *260m 26,000
—=(H22] 0r2or! HHIBAH
100,000 *260M 26,000
—=20}32] 01202 NEELTAL
2,600,000 % 10m 26,000
—=2(}42| D120+ AIHEHIZAL
300,00024*90 ' 27,000
—EtSlE] B2 EXIZA
100, 0002 *260m 26,000
—0jete] =2 ZETA
150, 0002 * 180m 27,000
03 AlZ=THHI 3,600 2,000 1,600
OARD ZOIHIAIY Al&SHH]
3,600,000 % 14! 3,600
S 2AHH|(SHAH) (DIEH/JIEH 186,293 172,348 13,945
ol 2| 67,315 66,238 1,077
REEEE] 67,315 66,238 1,077
101 o124] 67,315 66,238 1,077
01 B2 67,315 66,238 1,077
Ozt 2244
11,130 R1% 14236 Al 2122 67,315
DIEEETE] 118,978 106,110 12,868
DIE=E=EE] 118,978 106,110 12,868
201 L2 S 47,178 43,410 3,768
01 AF22t2IHI 33,690 32,310 1,380
OSAEX 7Y 20,0002 %158 A% 128 3,600
OS201Alb] 8,000 x4A!x 158 % 122 5,760
Ogbte2 100,000 * 122 1,200
OARZ2 TN 50,000+ 122 600
OARSZ 244 7,200
—=ADI(AE) 22 500,000+ 1CH 500
—IZglE =l 100,000 *4CH*50/ 100 200
—=2APD| EY 200,0002 %53+ 1CH 1,000
—I2IE(S) &4
200,000 %53 =4 CH 4,000
—I2IE(2e) EY
200,000 %33 1CH 600
—PC =2l 100,000 * 15CH*20/ 100 300
—DIEt 22| 50,0002*122 600
OJIEH AFR2t2(H] 5,000« 152122 900
Og - =& 14,430
—2A 60,0002+ 12116 6,960
—=5 30,0002 %1 H»249 7,470
02 2224 13,488 11,100 2,388




S Chabe
S AYSHAYI () (JI1EHDIEH
o2t J|=3H| (crel: M)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
O2ALS RERS 180,000 %122 2,160
ORdgss 12,000 x2CH+ 128 288
OIS 750,000 %122 9,000
oudIZ2st M2 75,0002 %122 900
OFI|IHEHBE =2 150,000 *23] 300
Odlot=TAIZE 45 0002 %122 540
OHGE HA 42
150, 00024 #2JH %13 300
202 04| 48,600 48,600 0
01 2oL 48,600 48,600 0
(@8 [:]:] 20,0002 15 *122* 122 43,200
O=2|04y| 90,000 x 153 4! 5,400
203 L2EZIH 10,200 10,200 0
01 |22 UREZIH 6,600 6,600
O J|22gyRE
6,600,0002 %12 6,600
02 HRAIIAAD =AY 600 600 0
OFANMARFXIY| 40,0002 %153 600
04 PASYUSTIY| 3,000 3,000 0
ORNSILRFEHI 250,000 %12 3,000
204 Z2 4 AH| 2,400 2,400 0
01 ZIHZ A4 AH 2,400 2,400
OZ#IALLHAL| 2,400
—HE 150,000+ 12»12& 1,800
—FHE 50,0002+ 12122 600
405 XHAHE SH 10,600 1,500 9,100
01 AU SEF SH 10,600 1,500 9,100
O2% h3l9al A 1Y
250,000 *36H 9,000
O=¢l 2Rt e 200,0002*82¢ 1,600




